Pre-Calculus 10
Chapter 3 Practice test

Expand and simplify the following polynomials.

a) (x=2)(x+4) WFLAR-T

b) (x+5)(x—6) ~X*-"X — 30

) (x+3)(x+2) RTSK+ O

d) (5x +6)(7x — 5) IH X+ X =30

e) 3(2x+3)(2x —1) —4(x% = 7) ¥ ¥+ 12X + \9

f) (=2x%y")(Bx3y) —GX®YS _

g) —xy?z(x?y?z — xyz? — x3y2) = WY 4 x2y32 3+ XU Z
h) (4x +9)(7x? +x = 3) 285+ 677 %>~ 3y - 27

i) (6x-9)* JEX2-108X + 1

Factor the following polynomials by taking out the greatest common factor.
a) 12xy —15y2 4 24y Y (UX-S5Y+ )

b) 9x3 —24x2 — 15x 33X (3IX*-8% —5)

¢) 4x3+8x%—12x LIX (2% —3)

d) 10x* + 5x3 — 1522 B5HE(2X+3) (X-1) |

e) 10x%y* —15xy® + 25x3y* SXy*(2x -3y + 5’)(23’—')

Factor, if possible.
a) x2+48x+7 O« (X+1) b) x? — 11x + 28 ("X‘*—Q ('X“’—%)

) x2—6x+9 (%X-2)> d)x®-7x+6 (X—6) (X-1)
e)x2 —8x+7 (X-17) ("X-1) a2 —4x—45 ("X-9) (X +5)
g)x2 = 2x — 15 (X-5) (X+3) h)x2 +2x — 15 (X+5) ('X-3)
i)x2 = 6x —40 (X-10) ("X+1)

Factor, if possible. ’
a) 2x?%+24x + 40 2.(’3(‘\' \Q\ (/X* ;1\)

b) 3x%+6x-24 (X)) (X-2)

0 3x%+12x—36 3("X+6) (x-2)

df —2x% 42074 12% =PRIA-2) (AT
e) —2x*+8x%y —8xy? -2 (X-2Y) 2
f) 3x2-21x+30 2(X-9)(X-2)

g x*—-9x2-90 (W-15)(X°¥E)



5. Factor, if possible.

a) x2—64 (X*3)(%-3)

b) x2+16 P

0 4x2 —9y? (2%+3Y) (2X-3Y)

d) 1-16x* (1u) (1 +2x) (1= 2%)

e) 4x? —16y? Lr(%+2y)) (X—2wy)

f) 196x% —25y% (IX+549)) (WX -5Y)

g) 411x% — 529y% (2\X+23y)) (\X-23%)

6. Factor, if possible. :
o a) 18x2 +60x +50 AZXAD)"

Ob) 4x?+12x+9 (2X43)7

e)c) 16x% —40x3 + 25x* o5 5{5(“”')7’
9)d) 4x2 — 8xy — 5y2 (WX (2X-59)

) e) —18x3 — 24x?y — 8xy? - 27X £ Z\{)‘)'Z

V) %% — 9xy + 14y2 (X-19) (X2Y)

W) g a2c +a2d? — bc — b2d? (ath) () {CTd?)



